ol

I

23 2 =

BS54 VB3<x<

@ 7 3 9 @ 10 ® 15

D 5



].
7}

=
5ol

u o] 7}

Hu oQ N

e aEa 2ol
2cm?2, Scm?, 18cm? ¢ A ALZHY
o Agol et olu, o] A
ool 7l =g o] Eel9] Poli?

@ 8+V7cm

@ 2+T7em
® 20V2cm

@ 18+V2cm

18cm?
|— 8cm?
]
2¢m?
® 14V2em



3. (A-y)1+y)1+yHA+y" & 79

@® 1+y* @ 1+y?

@ 1-y* ® 1-H8



(5x — 6)(4x + 3) = H7R3F A2

D 20x% +2x-18 @ 20x® +4x-18
® 20x2 4+ 6x—18 @ 20x2-9x+ 18

B 20x2 - 9x — 18



@ x(x-6)+9=0
1

©) §x2—|—4x—|—8:0

@ x*-1=0

® x2 +6x+11 = —(4x + 14)




o_a

o2 A 42— 10x+a-5=09°] &

6.

® 30 3 35 @ 40 B 45

@D 25



@ x*-3x-4=0

D x*-6x-2=0

=0

@ 2x% —4x+2

@ 2x2-2x4+2=0

B 2-x-12=0



oll

o
)

p
o

2 -8x4+4=2x-3a2 7} F2LE& 2

8.

B +7

@ 5

B 7



9. A=3V2-1,B=2V3-1,C=39 9, A, B, C Ui A=
e o]zt

& e
-



@ % B2 D Afol9] A4

G 245 +2- A Doj &

o
e B
w



11. axb=alb+1+ \/g),a*b:ab—a\—/gb gk g, V6 (V3 V2)

D 1+3V2 @ 1+3V3 ® 2+3V2
@ 2-243 B 3+3V2



12, (x+a)(x=-3)=x>+bx+11 € W, a + b 2] Ft2?

31 29 28
@) -3 @ -10 ® -3 @ -3



13, x=v2+1 <o, x2—7x+12 9] g F5toiet.

S ER
-



o, &= a9l

7t x=3¢Y

.é__]-_

Aax?+ (3-2a)x-2=09]

ki

1%}

14.

ol
N

M~

o b=

©



15.

oA A 242 —dx—a—1 = 0 & AR AL o]

S7kx = 1+ V3 olgich. ol a ] g2 Fsteler,

e =
-



16.

A (2 +x)2-7(x2+x)+12=0
“otof et

s
-



17.

7te, AlZ9] o7t 242k 20m, 15m <1 A
A2 mope] wofl thg 1R gol =g
TS geh hdo] Holzt 126 m? o] &
5 S, £2o] & FoHH?

@D 3m @ 4m ® 5m
@ 6m ® Tm

1
15m
\




3 3.9 O] Al EZZLL 1 ol



® a®-b?

ai5?

® +va+b
@ ab



20. W 23 +425(1- v2) 7} S4TSR st fes

k o] k22

D 1 ® 2 3 3 @ 4 B 5



21. Vx=a-29 W, Vx—da+ 12— Vx+ 2a -3 2 7+H3] A (T,
2<a<4)

® -2a+5 @ 2a-5 @5

@ —24-3 ® —2a+3






23. Al F A= aq,

b, ¢ o tI5te] Va2 + b2+ 2 o F4 HEol4 A
o, abe 9] fol 2B 5 A=

58 B el

L ©:abe =
& ©:abe =
& ©:abe=
L ©:abe=
bl i abe =

T Ehabe =



24.

¥ +ax+157F (x+b)(x+¢) 2
Fotodeh (D, a, b, c= BF)

e =
-

A~
T

1=}
gL

3

=]
=

o,

<

2~
e

a

94

B

gl

s

ftlo



v
- g ©
o
m

v
o

La=



